0 Of &5 o 959,338,975,820% (N & 022 78,109,116,820 9 X &) 0il CH 5t O
oo 1,004,741,253,7142 0/ 2
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2t2+ 0 2 Lt
0 HSeiE olg =0 =
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2. 2016WE UBHEIHE
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XEue 712,328,327,525% 0| O
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0 SeiT olgd 0=
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At Ol 2 9,831,867,658% (X2 8l AtT0l R o 02)
H=Hlolg 12,667,910,450%8 (X2 gl= H=Hlol g 02)
(2 - TH)EXS Ta & 3,808,152,92821 01 EE T 0 U2MH 012 BHIS =HHL0IBS 80,380,390,228 9 0| Ct.



3. 20169 & SIILSEIHE HIXES 11 SE3AHO st
(1) SZZUAER2
0 Off A& oH 136,587,305,230 (M E < 0|22 22,093,118,230 & )0l CH5HO
g 138,654,007,213% 0| 1
INELE= 87,028,671,098< 0| ™
0 1 Xtoixtae 51,625,336,1152 22 A X L3 HH HI19X0 et SE3H A2 IZEHPAES| AL= S 0
(223 0=, Ol Xt 02)S Z2HE 3lHE 2do= = 51,625,336,1152 2 3 HE2 LIS H T 0
2t2 0| & &t
0 LISHZ 0|2 =(ll=
HAlO| ¥ 21,607,841,730& (X2 e HAIOIENH 0)
AtD Ol 2,982,635,660 (XK= 8l= AtDOI SN 0&)
HSH0| 2 0& (X2 gle HsHoEH 0e)
2EX3 Mo 27,267,170€0] ZE L A2H 012 ZHE =HHANH=Z 2 27,007,591,555% 0| Ct.
(2) ZIILELIHE MAS JEISLEFNHS =2
0 Of At oH 16,473,237,000 (ME < 0| 2 426,100,000 &) 0fl CHGHOd
M2 17,151,778,468) 0/ 11
Asde 7,437,304,3082 0| O
0 1 Xoxaue 9,714,474160¥ 22 X X3 MY MI19X0 et JEISLI HAZ I EIHSA S0 AI2E 0
= 0, Ol Xt 0R2)2 ZHE 30 A0S EXH 9,714,474,1602 2 3lHg 2 (2 Z 0
2t2 0| & 8Tt
0 ST 018 Sol=
HAlO| & 234,434,0802 (X3 = HAIOI XM 0e)
A DOl 48,000,000 (XK= 8ls AtDO| 2 0)
HSHIO| 2 02 (X2 gle HSHolEH 0&)
(2 - SH)EXZ2 &R 27,267,170€0] EZ&TH A2H 02 ZHE =MAHAMHZ2 9,404,772,910& 0| C}.
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